N of reco track vs dxy N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

L F < 2 2
s [ S S S
g s S 8
[ Q Q
=] X =1
10? =l k] 8o
[=3
- =]
- =
10 1
D ¥l | i | i
oV DOM_mkFit_T1_base
S mKkFit_TT retrain
4 oS T
I
0.95
0'—“25—20—15—10 -5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 10 15 20 25 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 M L 2 -
[=} [=} [=} [=}
g 8 S s
[ Q Q
=] X =1
=l £ 8o
[=3
=]
=
10
Rl 3
3 ]
o £
SRR SRE £ oo :
. s . 0.8f----
20 30 %520 -0 0 0 20 30 -30 -20 -10 O 10 20 30 -30 -20 -10 O 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


